HEFE

1. BEOREICEHT S &

-1 MEFR EEREQEIEREFNIL)

Fk Fik2 k3 =El
B# 2,518 1,327 11, 643 15, 488
% 16. 3% 8. 6% 75. 2% 100. 0%
BETENFH/MESFR EEREOEIREFHL)

Fikl k2 Fik3 &it
A& (FEXRITE) 916 576 4,989 6, 481
K& (BB T %<2 x 455)) 185 32 471 688
RE (FLNTKERRIVTESE 31 20 1,030 1,081
#HEHar o )—k RO & 10 5 1 16
#HHar oY —F (RO) @EST LT 3 1 5 9
#%E ) & 39 18 31 88
B%E (S) BETLNT> 1,334 671 5 113 7,118
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
Z Db 0 4 2 6
Bit 2,518 1,327 11, 642 15, 487
BETEANE S/ MEFR EEREQEIREFRL)

Fki Fik2 Fk3 =El
K& (FEEIEK) 14. 1% 8. 9% 77.0% 100. 0%
RiE (BiREET A2 x45%D) 26. 9% 4. 7% 68. 5% 100. 0%
K& (FLNTKRBENRRIVTEE 2.9% 1.9% 95. 3% 100. 0%
#HEHar o )—k (RO & 62. 5% 31. 3% 6. 3% 100. 0%
#HHav ) —F (RO ELTLANTY 33. 3% 11.1% 55. 6% 100. 0%
#%E (S & 44. 3% 20. 5% 35. 2% 100. 0%
#BE () BEITLNTD 18. 7% 9. 4% 71. 8% 100. 0%
BHEHKH Y )—k (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z Db 0. 0% 66. 7% 33. 3% 100. 0%
= 16. 3% 8. 6% 75. 2% 100. 0%
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HEFE

1. BEOREICEHT S &

1-2 MEFH EEREDEEHILE)

Fk Fik2 k3 =El
B# 2,518 1,328 11, 642 15, 488
% 16. 3% 8. 6% 75. 2% 100. 0%
BETENFH/MESFR EEREDBENL)

Fikl k2 Fik3 &it
A& (FEXRITE) 914 578 4,989 6, 481
K& (BB T %<2 x 455)) 184 33 471 688
RE (FLNTKERRIVTESE 31 20 1,030 1,081
#HEHar o )—k RO & 10 5 1 16
#HHar oY —F (RO) @EST LT 3 1 5 9
#%E ) & 39 17 32 88
B%E (S) BETLNT> 1,337 670 5 111 7,118
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
Z Db 0 4 2 6
Bit 2,518 1,328 11, 641 15, 487
BETEMNE S/ MEFR EEREOBERLE)

Fki Fik2 Fk3 =El
K& (FEEIEK) 14. 1% 8. 9% 77.0% 100. 0%
RiE (BiREET A2 x45%D) 26. 7% 4. 8% 68. 5% 100. 0%
K& (FLNTKRBENRRIVTEE 2.9% 1.9% 95. 3% 100. 0%
#HEHar o )—k (RO & 62. 5% 31. 3% 6. 3% 100. 0%
#HHav ) —F (RO ELTLANTY 33. 3% 11.1% 55. 6% 100. 0%
#%E (S & 44. 3% 19. 3% 36. 4% 100. 0%
#BE () BEITLNTD 18. 8% 9. 4% 71. 8% 100. 0%
BHEHKH Y )—k (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z Db 0. 0% 66. 7% 33. 3% 100. 0%
= 16. 3% 8. 6% 75. 2% 100. 0%
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HEFE

1. BEOREICEHT S &

-4 MREEFR BERAEQEIREN IR TEEHIE)

E Fik2 &t
F# 2, 603 12,883 15, 486
% 16. 8% 83. 2% 100. 0%
BELZERF#/MEZFR EEREOEREN LR TESERL)

£ Fik2 it
A& (FEERIE) 875 5, 604 6, 479
A& (BAAEE TR x4%)) 198 490 688
ARiE (FULNTKREBNRIVTESE 36 1,045 1,081
oo )—k (RC) & 8 8 16
a2 U—k RC) &E<TLADD 3 6 9
#%E (S) & 40 48 88
#%B (S) ETLNT> 1,443 5,675 7,118
BHEHHaY)— b (SRC) & 0 0 0
avy)y—kJovy (CB) & 0 0 0
Z Dt 0 6 6
&5t 2, 603 12,882 15, 485
BELTEREE/MEER EERAOEIREN LR SESEL)

i Eik2 &t
A& (FERIE) 13. 5% 86. 5% 100. 0%
AE (BEET RO x4%D) 28. 8% 71.2% 100. 0%
K& (TLNITKRENRIVIESE 3.3% 96. 7% 100. 0%
Bary)—bk (RC) & 50. 0% 50. 0% 100. 0%
a2 —k RC) ESTLADD 33.3% 66. 7% 100. 0%
#%E (S) & 45. 5% 54. 5% 100. 0%
#%E (S) ECTLAND> 20. 3% 79. 7% 100. 0%
BEHHIY)—k (SRC) & — - -
avhyy—krJayy (CB) & - - -
Z N 0. 0% 100. 0% 100. 0%
it 16. 8% 83. 2% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




HERE
1. BEDODREICET A&

1-5 MHEEFH EEREDEIRFRIERTIEGLE)

FZUREN  FiR Fik2 Bit
F# 15, 000 251 231 15, 488
% 96. 8% 1. 6% 1. 5% 100. 0%

BET AR ER/ MEEFR BEREQEIRFN LR CIEERHIE)

UK FR Fik2 &t
XE (FEXTER) 6, 359 64 58 6, 481
RiE (BHHEE TR x4%D) 672 8 8 688
K& (FULNTKRBNARILITESE 876 39 166 1,081
a2 )—k (RO & 16 0 0 16
#Ha o) — bk (RC) BT LT 9 0 0 9
#%E (S) & 70 17 1 88
#%E (S EKTLNTDD 6, 991 123 4 7,118
HEHKHF IV )—k (SRO) & 0 0 0 0
avy)—krJavY (B) & 0 0 0 0
Z Db 7 0 0 7
ast 15, 000 251 237 15, 488

S THEAEA/MEEEH BEREOEESHIE R UEEHL)
BEREN] B | S0 | A

K& (FEERTIE) 98. 1% 1. 0% 0. 9% 100. 0%
RiE (BB T E2x4%D) 97. 7% 1.2% 1.2% 100. 0%
K& (FULNTKREBNARILITESE 81.0% 3. 6% 15. 4% 100. 0%
oo )—F (RO & 100. 0% 0. 0% 0. 0% 100. 0%
#Ha o )—k (RC) BT L/NT 100. 0% 0. 0% 0. 0% 100. 0%
#E (S & 79. 5% 19. 3% 1.1% 100. 0%
#%E (S) BETLNT> 98. 2% 1. 7% 0. 1% 100. 0%

BHEHKFH IV — (SRC) & - - - Z
avy)—krJavY (B) & - - - -

Z Db 100. 0% 0. 0% 0. 0% 100. 0%
ast 96. 8% 1. 6% 1. 5% 100. 0%

FRI4FEERRIEMRTME GE) T -5 (EEttaedl- - R THE



HEFE

2. KKEFDREICEHTH &

-1 BMEREEREEHR (EEF K

304 Fik2 FR3 Fik4 =11
P 13,165 2,228 28 67 15, 488
% 85. 0% 14. 4% 0. 2% 0. 4% 100. 0%
BETENPH/ BRAMZHRESHEFH (BEF MK

F FR2 FR3 Fih4 =5
A& (FERIE) 5,027 1,428 21 5 6, 481
A& (BiEBETE2x45)) 454 232 1 1 688
RiE (FUNTRBENRIIVTES 1,035 45 1 0 1,081
a1 —k (RC) & 12 2 0 2 16
a2y 1)—k (RC) &E<TL/NTD> 9 0 0 0 9
e (S) & 73 15 0 0 88
B (S) ET LD 6, 552 502 5 59 7,118
HE#kmaryJ—Fk (SRC) & 0 0 0 0 0
avhy—kJOovs (CB) & 0 0 0 0 0
Z D 3 3 0] 0 6
&&t 13,165 2,221 28 67 15, 487
BELENE S/ BRANZERESHEFTR (BEF LK)

F FiR2 FHk3 Fiha &5t
A& (FEEIE) 717. 6% 22. 0% 0.3% 0. 1% 100. 0%
ARiE (BiEBET A2 x45)) 66. 0% 33. 7% 0.1% 0.1% 100. 0%
RiEg (TFUNTKRENRITESE 95. 7% 4. 2% 0.1% 0. 0% 100. 0%
#HEgma o )—hk (RC) & 75.0% 12.5% 0.0% 12. 5% 100. 0%
HFa o U—bk (RC) &ESTLANTD 100. 0% 0. 0% 0.0% 0.0% 100. 0%
e (S) & 83. 0% 17. 0% 0.0% 0. 0% 100. 0%
$B%E (S) ELTLANDTD 92. 0% 7.1% 0.1% 0. 8% 100. 0%
HEHHaY)— bk (SRC) & - - - - -
avyy—rJOowyy (CB) & - - - - -
Z Dk 50. 0% 50. 0% 0. 0% 0. 0% 100. 0%
&5t 85. 0% 14. 4% 0.2% 0. 4% 100. 0%

FRI4FEERREEMRRTME ) T -5 (EEMEEEHE- R~

A
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2-4 B CRKH)

B P 4 4= N = 55t
F 14, 693 1 1 515 275 15, 485
% 94. 9% 0. 0% 0. 0% 3. 3% 1.8% 100. 0%
s TERNP /B xR CRKERF)

B " A 1= I\ = &t
A& (FEEIE) 6, 350 0 0 42 87 6,479
AiE (BfHEET HQ2x45D) 620 0 0 12 56 688
RiE (FULNTRENRIVTESE 1, 045 0 0 32 4 1,081
#Hmary')—k (RC) & 14 0 0 1 1 16
a2y )—bk (RC) ELTLANTD 9 0 0 0 0 9
#%E (S) & 75 1 0 2 10 88
B (S) &ETLNTD> 6,573 0 1 426 117 7,117
HE#kmary)—k (SRC) & 0 0 0 0 0 0
avhH)y—kJOvy (CB) & 0 0 0 0 0 0
Z Dk 6 0 0 0 0 6
&t 14, 692 1 1 515 275 15, 484
BEIERNEE/BREXER (KK

ZEAL 1 1= A = =X1i
A& (FERIE) 98. 0% 0. 0% 0. 0% 0. 6% 1.3% 100. 0%
A& (BiEBETE2x45%)) 90. 1% 0.0% 0.0% 1. 7% 8.1% 100. 0%
KiE (FUNTRENRIVTES 96. 7% 0.0% 0. 0% 3. 0% 0.4% 100. 0%
#HEgpa o )—F (RC) & 87.5% 0. 0% 0. 0% 6. 3% 6. 3% 100. 0%
a1 )— bk (RC) BELTLANTD 100. 0% 0. 0% 0. 0% 0. 0% 0. 0% 100. 0%
#%E ) & 85. 2% 1.1% 0. 0% 2. 3% 11. 4% 100. 0%
B (S) E<TLANT> 92. 4% 0. 0% 0. 0% 6. 0% 1.6% 100. 0%
BEHKH Y )—bk (SRC) & - - - - -
avyy—kJOvy (CB) & - - - - -
Z D 100. 0% 0. 0% 0. 0% 0. 0% 0. 0% 100. 0%
&5t 94. 9% 0. 0% 0. 0% 3.3% 1.8% 100. 0%

FRI4FEERREEMRRTME ) T -5 (EEMEEEHE- R~
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2-5 MXEFHR EHEOEENDHLHES (BFHOHE] )

ZLEL Fik 1 EFh2 FRS =1
P 37 12,572 2,874 5 15, 488
% 0.2% 81.2% 18. 6% 0. 0% 100. 0%
BELENPH/ MANER (EROBZTADHEEHS (FAOE) )

AL kA e k3 ait
A& (FERIE) 17 4, 747 1,714 3 6, 481
A& (BB T EQ2x45D) 1 564 123 0 688
KiE (FLUNTRENRIIVTES 1 1,001 78 1 1,081
a1 —k (RC) & 1 9 6 0 16
a2 1)—k (RC) @E<TL/NTD> 0 8 1 0 9
#®E (S) & 0 78 9 1 88
e (S) ETL/NTD> 17 6, 159 942 0 7,118
HEHmaY)—Fk (SRC) & 0 0 0 0 0
avHo)y—kJOvy (CB) & 0 0 0 0 0
Z D 0 6 0 0 6
=kl 37 12,572 2,873 5 15, 487
BETERNEE/MARER (EROBZTADHDIES (BHOER) )

EEL. 1Y Ek Fih2 FH/S =1
A& (FEERIE) 0.3% 73.2% 26. 4% 0. 0% 100. 0%
A (BfEEE T £ x45)) 0.1% 82. 0% 17. 9% 0. 0% 100. 0%
KiE (TUNTKRENRITESE 0.1% 92. 6% 71.2% 0.1% 100. 0%
o>y )—bk (RC) & 6. 3% 56. 3% 37.5% 0. 0% 100. 0%
a2y )—bk (RC) BT LANTD 0.0% 88. 9% 11.1% 0. 0% 100. 0%
#%E (S & 0.0% 88. 6% 10. 2% 1.1% 100. 0%
B (S) ETLANT> 0.2% 86. 5% 13. 2% 0. 0% 100. 0%
HEHHaY)— bk (SRC) & - - - - -
avyy—rJOowyy (CB) & - - - - -
Z Dk 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
&5t 0. 2% 81.2% 18. 6% 0. 0% 100. 0%

FRI4FEERREEMRRTME ) T -5 (EEMEEEHE- R~
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2-6 MAER ERENOEENDHLHES (FAOEFLUSN] )

ZEGL

Fik

Fik2

ik 3

EFih 4

=]
P& 29 1,501 13, 396 442 120 15, 488
% 0. 2% 9. 7% 86. 5% 2. 9% 0. 8% 100. 0%
BELENEH/MAER EREOBZTNADOH I (BAOSHLS] )
EEIAA TR Eik2 E# 3 k4 &t
A& (FEERIE) 12 1,105 5,148 212 4 6, 481
A& (BB TR x4%)) 1 300 315 72 0 688
K (TLNTKRENRIVTESED 1 30 1,034 16 0 1,081
BHar oy )—bk (RC) & 1 2 4 1 8 16
a2 —k (RC) E<TL/ANTD 0 0 7 0 2 9
B%E (S & 0 7 76 3 2 88
B%E (S) ETLNT> 14 56 6, 807 137 104 7,118
HEHHY)— bk (SRC) & 0 0 0 0 0 0
avsy—kJOowvs (CB) & 0 0 0 0 0 0
ZNDih 0 1 5 0 0 6
it 29 1,501 13, 396 441 120 15, 487
BETERNB S/ MAER EEOSZTADHDES (OIS )
EENAEETD S Fih2 3 k4 =X1i
K& (FEEIX) 0. 2% 17.0% 79. 4% 3.3% 0.1% 100. 0%
A& (BpfEEE TR<2x4%)) 0.1% 43. 6% 45. 8% 10. 5% 0. 0% 100. 0%
K& (TLNITKRBENRIVTESED 0.1% 2.8% 95. 7% 1.5% 0. 0% 100. 0%
BHar v )—hk (RC) & 6. 3% 12. 5% 25. 0% 6. 3% 50. 0% 100. 0%
a1 —bk (RC) &E<TLANTD 0. 0% 0. 0% 77. 8% 0. 0% 22. 2% 100. 0%
#%E (S) & 0. 0% 8. 0% 86. 4% 3. 4% 2. 3% 100. 0%
$%E (S) ELTLNTD 0. 2% 0. 8% 95. 6% 1.9% 1.5% 100. 0%
BEHHmaLY)— bk (SRC) & - - - - - -
avhy—kJOvY (CB) & - - - - - -
Z D 0. 0% 16. 7% 83. 3% 0. 0% 0. 0% 100. 0%
&t 0. 2% 9. 7% 86. 5% 2. 8% 0. 8% 100. 0%

FRI4FEERREEMRRTME ) T -5 (EEMEEEHE- R~
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HEFE

3. FILDERICEHT S &

3-1 SbxtRHFHR HBEREE)

Fk Fik2 k3 =El
B# 668 1,318 13, 502 15, 488
% 4. 3% 8. 5% 87.2% 100. 0%
BETIERNFH/ S RER EERAFE)

Fikl k2 Fik3 &it
A& (FEXRITE) 266 991 5,224 6, 481
K& (BB T %<2 x 455)) 33 283 372 688
RE (FLNTKERRIVTESE 12 28 1,041 1,081
#HEHar o )—k RO & 7 5 4 16
#HHar oY —F (RO) @EST LT 6 1 2 9
#%E ) & 17 2 69 88
B%E (S) BETLNT> 326 4 6, 788 7,118
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
Z Db 1 4 1 6
Bit 668 1,318 13, 501 15, 487
BETEANEE/ S REFR EEREE)

Fki Fik2 Fk3 =El
K& (FEEIEK) 4.1% 15. 3% 80. 6% 100. 0%
RiE (BiREET A2 x45%D) 4. 8% 41.1% 54. 1% 100. 0%
K& (FLNTKRBENRRIVTEE 1.1% 2. 6% 96. 3% 100. 0%
#HEHar o )—k (RO & 43. 8% 31. 3% 25. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 66. 7% 11.1% 22. 2% 100. 0%
#%E (S & 19. 3% 2. 3% 78. 4% 100. 0%
#BE () BEITLNTD 4. 6% 0.1% 95. 4% 100. 0%
BHEHKH Y )—k (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z Db 16. 7% 66. 7% 16. 7% 100. 0%
= 4. 3% 8. 5% 87.2% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




HEFE

4 HEFEE - BEHAOREICETSL

41 HHEEENREFR (EREE)

ZEEL Fik Fik2 Fik3 Bit
B# 8 1,798 3,492 10, 190 15, 488
i 0. 1% 11. 6% 22. 5% 65. 8% 100. 0%
BETERNF R/ FEENRER (ERARE)

ZEL ik Fithk2 Fik3 Bit
AE (FEXRTE) 1 516 778 5,180 6, 481
K& (BB T %<2 x 455)) 0 249 180 259 688
K& (FUNTKRENRIVTESE 1 121 84 875 1,081
#HEmary)—k RO & 0 1 5 4 16
BHa oY —F (RO) #EST LT 0 7 2 0 9
#%E ) & 0 14 36 38 88
B%E (S) BETLNT> 0 883 2, 406 3, 829 7,118
HEHKHI Y )—F (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 1 0 5 6
Bit 8 1,798 3, 491 10, 190 15, 487
BETENE S/ HMBFEENRER (FREE)

ZEEL Fik Fik2 Fik3 it
K& (FEEIEK) 0. 1% 8. 0% 12. 0% 79. 9% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 36. 2% 26. 2% 37. 6% 100. 0%
K& (FLNITKENRRIVTESE 0. 1% 11. 2% 1. 8% 80. 9% 100. 0%
#HEHar o )—k (RO & 0. 0% 43. 8% 31. 3% 25. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 77. 8% 22. 2% 0. 0% 100. 0%
#H®E (S & 0. 0% 15. 9% 40. 9% 43. 2% 100. 0%
#BE () BEITLNTD 0. 0% 12. 4% 33. 8% 53. 8% 100. 0%
BHEHKHFI V) —F (SRC) & - - - - -
avyy—rkJOyy (CB) i& - - - - -
ZDis 0. 0% 16. 7% 0. 0% 83. 3% 100. 0%
= 0. 1% 11. 6% 22. 5% 65. 8% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




HEFE
CRBREICEAT S &

5-1 BT RILF—MEER

Fk Fik2 k3 Fiha Bt
B# 174 2, 796 1,818 4, 640 15, 488
i 1.1% 18. 1% 50. 9% 30. 0% 100. 0%

BETERNFH/E T I —EEFR

e EH2 | E®3 %134 i
AiE (ERLE) 106] 2,217 3,259 839 6. 451

K& (BB T %<2 x 455)) 19 374 252 43 688
K& (FUNTKRENRIVTESE 8 57 185 231 1,081
#HEmary)—k RO & 4 1 5 0 16
BHa oY —F (RO) #EST LT 0 2 5 2 9
#%E ) & 8 6 31 43 88
B%E (S) BETLNT> 28 13 3,535 3,482 7,118
HEHKHI Y )—F (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 1 0 5 0 6
= 174 2,796 1,871 4, 640 15, 487

BETEANES/ET R —RFR

ZR =% | E83 Z1R4 e

K& (FEEIEK) 1. 6% 35. 1% 50. 3% 12. 9% 100. 0%
RiE (BiREET A2 x45%D) 2. 8% 54. 4% 36. 6% 6. 3% 100. 0%
K& (FLNITKENRRIVTESE 0. 7% 5. 3% 12. 6% 21. 4% 100. 0%
#HEHar o )—k (RO & 25. 0% 43. 8% 31.3% 0. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 22. 2% 55. 6% 22. 2% 100. 0%
#H®E (S & 9. 1% 6. 8% 35. 2% 48. 9% 100. 0%
#BE () BEITLNTD 0. 4% 1. 0% 49. 7% 48. 9% 100. 0%

BHEHKHFI V) —F (SRC) & - - - - -
BHEHHFI V) —F (SRC) & - - - - —
Z D 16. 7% 0. 0% 83. 3% 0. 0% 100. 0%
= 1.1% 18. 1% 50. 9% 30. 0% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR



HEFE
CRBREICEAT S &

5-1 BT RILF—MEER

Fk Fik2 k3 Fiha Bt
B# 174 2, 796 1,818 4, 640 15, 488
i 1.1% 18. 1% 50. 9% 30. 0% 100. 0%

MRS E#/E T R T EEFR

BR1_| B8 | B@e | B@d | A

I Hhig 4 0 35 22 61
1T iz 5 6 93 13 177
I #hig) 2 47 167 254 470
IV Hhig 154 2, 726 1,449 4,172 14, 501
V ihig 9 16 129 117 271
VI iz 0 1 5 2 8
a&t 174 2, 796 1,878 4,640 15, 488

XN E &/ E T RILF—FEKER

BRI | s | B@0 | m@4 | &

I #his 6. 6% 0. 0% 57. 4% 36. 1% 100. 0%
1T iz 2. 8% 3. 4% 52. 5% 41.2% 100. 0%
I #h 32 0. 4% 10. 0% 35. 5% 54. 0% 100. 0%
IV #h g} 1.1% 18. 8% 51. 4% 28. 8% 100. 0%
V iz 3. 3% 5. 9% 47. 6% 43. 2% 100. 0%
VI i i3} 0. 0% 12. 5% 62. 5% 25. 0% 100. 0%
A&t 1.1% 18. 1% 50. 9% 30. 0% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR



6-1 RILLTILTE R

A 40 A I\ 4 0\ =] [=PAN A &5t
=k 2 91 1 10, 352 117 4,924 1 15, 488
% 0. 0% 0. 6% 0. 0% 66. 8% 0.8% 31. 8% 0. 0% 100. 0%
BETEMNEH/ RILLTILTE EXE

A 40 EEA 4 O/\ [m] =AY /N A&t
A& (FERIE) 0 54 1 3,717 62 2,647 0 6, 481
Ao (HREE TR x45)) 1 14 0 381 21 270 1 688
K& (FLNITKRENRRILTRE 1 2 0 455 13 610 0 1, 081
oy )—k (RO & 0 3 0 7 2 4 0 16
oy )—k (RC) &E<TLNT> 0 0 0 6 1 2 0 9
#%E (S & 0 0 0 46 5 37 0 88
e (S) BT LAnD 0 18 0 5, 740 13 1,347 0 7,118
SHEHHma ) —k (SRC) & 0 0 0 0 0 0 0 0
arvy)y—kJBAvyY (CB) & 0 0 0 0 0 0 0 0
Z Dt 0 0 0 0 0 6 0 6
&t 2 91 1 10, 352 117 4,923 1 15, 487
BEILZREE/ RILLTILTE FxE

4 40 A I\ A4 B/\ [m] [=PAY A BE
AiE (EERIE) 0. 0% 0.8% 0. 0% 57. 4% 1.0% 40. 8% 0. 0% 100. 0%
RiE (BB TR x45)) 0. 1% 2. 0% 0. 0% 55. 4% 3. 1% 39. 2% 0. 1% 100. 0%
AiE (FLNITKENRARIITHES 0. 1% 0. 2% 0. 0% 42. 1% 1.2% 56. 4% 0. 0% 100. 0%
a1 )—hF (RC) & 0. 0% 18. 8% 0.0% 43. 8% 12. 5% 25. 0% 0.0% 100. 0%
o>y )—k (RO ELTLNTD 0. 0% 0. 0% 0.0% 66. 7% 11.1% 22. 2% 0. 0% 100. 0%
e (S & 0. 0% 0. 0% 0.0% 52. 3% 5. 7% 42. 0% 0. 0% 100. 0%
e (S) E\TLND 0. 0% 0.3% 0.0% 80. 6% 0.2% 18. 9% 0. 0% 100. 0%
BEHHI ) — Lk (SRC) & - - - - - - - -
avsYy—rJOovsy (0B) & - - - - - - - -
ZDith 0.0% 0. 0% 0. 0% 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
&Et 0. 0% 0. 6% 0.0% 66. 8% 0.8% 31. 8% 0.0% 100. 0%

FROAFEREREEMAESEE () 7T —2 (EEEaEEHlE - R THS)



6-2 EEQBIE

BELL m] =1
F# 15, 483 5 1 15, 489
% 100. 0% 0. 0% 0. 0% 100. 0%
BETAMNFH/ EEDOMIE

B9 =] &it
K& FEERTHE) 6, 482 0 0 6, 482
ARiE (HfAEE T iK<2 x4%)) 688 0 0 688
K& (FULNITKRBENRRNTESE 1,080 1 0 1,081
#Ha s Y—F (RO) & 16 0 0 16
By )— bt (RO BE<TLNT> 9 0 0 9
B%E (S & 88 0 0 88
#%E (S BEITLNT> 7,113 4 1 7,118
HEHKHIY)—F (SRO) & 0 0 0 0
vy Yy—rJavy (CB) & 0 0 0 0
Z D 6 0 0 6
a&t 15,482 5 1 15, 488
BETZANAE/ EEQBRIAE

B =] =
K& FEERTHE) 100. 0% 0. 0% 0. 0% 100. 0%
ARiE (HfABET K< x 45%)) 100. 0% 0. 0% 0. 0% 100. 0%
K& (FLNITKRBENRRNTESE 99. 9% 0.1% 0. 0% 100. 0%
#HEmar o )—F (RO & 100. 0% 0. 0% 0. 0% 100. 0%
By )— bt (RO BESTLNT> 100. 0% 0. 0% 0. 0% 100. 0%
#B%E (S & 100. 0% 0. 0% 0. 0% 100. 0%
#®E () BTLNT> 99. 9% 0.1% 0. 0% 100. 0%
SEHHI Y )— bk (SRO) iE - - -
avyy—rJovy (CB) iE - - -
Z D 100. 0% 0. 0% 0. 0% 100. 0%
&5t 100. 0% 0. 0% 0. 0% 100. 0%

FROAFEREREEMAESEE () 7T —2 (EEEaEEHlE - R THS)



6-2 BFRx®E (ERT)

EEL® 14 40 =] N\ &5t
F# 2 236] 10,855 4,392 2] 15,487
% 0. 0% 1. 5% 70. 1% 28. 4% 0.0%  100.0%
BETEAPH/BABRERE (FF)

BEAL 4 40 ] N\ &5t
At (EXIE) 1 71 2, 604 3, 805 0 6, 481
A (B#REET K2 x4%) 0 66 381 240 1 688
KiE (FLNITKRBNSRILIESE 0 28 1,034 18 1 1,081
#EHar s )—k (RC) & 0 3 11 2 0 16
BEHa o U—Fk (RO #EITLNT> 0 1 8 0 0 9
%E ) & 0 4 69 15 0 88
H%E (S #BITLNAD 1 63 6, 745 308 0 7,117
HEHFIV S U—k (SRC) & 0 0 0 0 0 0
avsYy—rJOovs (CB) & 0 0 0 0 0 0
FDith 0 0 3 3 0 6
&5t 2 236] 10,855 4,391 2| 15,486
BEI LG/ BARBREE (Fm)

ZEEL 1 140 =] N St
AiE (EERIE) 0. 0% 1.1% 40. 2% 58. 7% 0.0%  100.0%
AiE (B#REET K2 x4%) 0. 0% 9. 6% 55. 4% 34. 9% 0.1%  100.0%
KiE (FUNTRENSARIVIES 0. 0% 2. 6% 95. 7% 1. 7% 0.1%  100.0%
oo )—bk (RC) & 0. 0% 18. 8% 68. 8% 12.5% 0.0% 100.0%
B> s U—Fk (RO #ESTLNT> 0. 0% 11.1% 88. 9% 0. 0% 0.0%|  100.0%
®E (S & 0. 0% 4.5% 78. 4% 17. 0% 0. 0% 100. 0%
#%E (S #EITLnID> 0. 0% 0. 9% 94. 8% 4.3% 0.0%  100. 0%
#BEHMFIS Y — L (SRC) & - - - - - -
av4sYy—kJOwvs (CB) & - - - - - -
Z D 0. 0% 0. 0% 50. 0% 50. 0% 0.0%  100.0%
&%t 0. 0% 1.5% 70. 1% 28. 4% 0.0%  100.0%

FROAFEREREEMAESEE () 7T —2 (EEEaEEHlE - R THS)



6-2 BEESE (A=)

ZEL

10

/\

[= -]
Fi 6 152 15, 262 67 1 15, 488
% 0. 0% 1.0% 98. 5% 0. 4% 0.0%  100.0%
BELENFH/ BAREXE (GAE)

Bt L A 40 = /\ &Et
A& (FEETIER) 2 48 6, 407 24 0 6, 481
A& (BpfERE T A2 x4%)) 0 55 621 11 1 688
A& (FTUNITKRENRIVTERED 1 14 1,065 1 0 1, 081
#emary)J—k (RC) & 0 3 13 0 0 16
BBy )—bk (RC) &E<TLNTD 0 0 9 0 0 9
B%E (S & 0 1 79 8 0 88
#B%E (S) ETLANT> 3 31 7, 061 23 0 7,118
HEHH Y )—k (SRC) & 0 0 0 0 0 0
avHhYy—kr7JOvH (CB) & 0 0 0 0 0 0
Z Dt 0 0 6 0 0 6
=X 6 152 15, 261 67 1 15, 487
BELENEES/ BFREXE (AE)
Bt L A 40 = /\ &5t

AiE (EXTIE) 0. 0% 0.7% 98. 9% 0. 4% 0.0% 100. 0%
ARiE (BHEEETEQ2x45) 0. 0% 8. 0% 90. 3% 1. 6% 0.1% 100. 0%
KiE (FUNITKRENRIITES 0.1% 1.3% 98. 5% 0.1% 0.0% 100. 0%
BHar s )—Fk (RC) & 0. 0% 18. 8% 81. 3% 0. 0% 0.0%  100.0%
Bpa vy U—bk (RC) &ESTL/NDD 0. 0% 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
B%E (S & 0. 0% 1.1% 89. 8% 9.1% 0.0%  100.0%
8B (S) ELTLANT> 0. 0% 0.4% 99. 2% 0. 3% 0. 0% 100. 0%
HEHHIYJ—bk (SRC) & - - - - -
oo Yy—krJOvH (CB) & - - - - -
Z D 0. 0% 0. 0% 100. 0% 0. 0% 0.0% 100. 0%
=11 0. 0% 1. 0% 98. 5% 0. 4% 0.0%  100.0%

FRI4EEEREEHRETEE GE) T -2 (EEHaEh - X T HE




6-2 BRI ER (87

Bt L A 40 [ =X
P 3 284 15,169 32 15, 488
% 0. 0% 1.8% 97. 9% 0.2%  100.0%
BELENFH/ BiRsExE (8

Bt L A 40 [ =X
A& (FEERTIER) 2 85 6, 383 11 6, 481
A& (BpfERE T A2 x4%)) 0 61 627 0 688
A& (FUNITKRENRIVTERED 1 42 1,038 0 1,081
#maryJ—hk (RC) & 0 3 13 0 16
BBy )—bk (RC) &E<TLNTD 0 0 9 0 9
B%E (S & 0 7 81 0 88
#B%E (S) &I LT 0 86 7,011 21 7,118
HEHHIYJ—k (SRC) & 0 0 0 0 0
avhYy—kJOvH (CB) & 0 0 0 0 0
Z Dt 0 0 6 0 6
&it 3 284 15,168 32 15, 487
BELENEES/ BFRsxE (B

Bt L A 40 [ =
A& (FEERIER) 0. 0% 1.3% 98. 5% 0.2%  100.0%
ARiE (BHEEETEQ2x45)) 0. 0% 8.9% 91.1% 0. 0% 100. 0%
KiE (FUNITKRENRIVITES 0.1% 3.9% 96. 0% 0. 0% 100. 0%
#mary)—k (RC) & 0. 0% 18. 8% 81.3% 0. 0% 100. 0%
oy U—bk (RC) &ESTL/NDTD 0. 0% 0. 0% 100. 0% 0.0% 100. 0%
B%E (S & 0. 0% 8. 0% 92. 0% 0.0%  100.0%
8B (S) ELTLANTD 0. 0% 1.2% 98. 5% 0.3% 100. 0%
BEHHFaY)— bk (SRC) & - - - -
oo Yy—krJOvH (CB) & - - - -
Z D 0. 0% 0.0% 100. 0% 0. 0% 100. 0%
&t 0. 0% 1.8% 97. 9% 0.2%  100.0%

FRI4EEEREEHRETEE GE) T -2 (EEHaEh - X T HE
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1.

£F

2

RIRRICET S &

1-1 BEfmpOR

T0%ELE | 15%ELE | 20%5LE . E

106K | (uskiz | 20uskss | 25wk | 2oPEAE | A
B 7 i 301|  2.648] 12,525 15,487
% 0.0% 0. 1% T o5 17.1% 80 9%  100.0%

it TR E S/ S MBAN %

T0%ELE | 15%ELE | 20%5LE . .

TOWRI | j5uskim | 20uskim | 5%k | 2oWHAE | &E
A& (EELE) 0 5 87 612]  5.777| 6 481
Ko (PAE T 542 X 4%) 0 3 13 85 587 638
K& (FUNTRBNTL TR 1 0 39 381 660 1,081
BEHaI o U—F (RO & 0 0 0 2 1 16
BHI o U—F (RC) B<ITLNT> 0 0 0 7 7 9
%E (5 & 0 1 3 12 70 83
BE (S) BITLNT> i 2 159 1.552]  5.404]  7.118
HEHZEHI 7' —F (SR0) & 0 0 0 0 0 0
S5 y—FJovh (B) & 0 0 0 0 0 0
e 0 0 0 0 5 6
aEf 2 i 01| 2.648] 12,525 15,487

s TERE S /BEapEO s

~ | 10%LE | 15%5LE | 20%5LE : E

10WRT | (suskim | 20uskis | 25wk | 2OPEAE | A
R E (EELE) 0.0% 0. 1% 1.3% 9. 4% 89.1%] 100.0%
RoE (BT 52 x 45>) 0. 0% 0. 4% 1 0% 12.4% 85 3%  100.0%
K& (TUNTAB NI TEE 0. 1% 0. 0% 3.6% 3524 61 1% 100, 0%
BB —F (RO & 0. 0% 0. 0% 0.0%  12.5%  87.5% 100 0%
BB o U—F (R0 B<ITLNT> 0. 0% 0. 0% 0.0% 22 2% 77.8% 100 0%
HE () & 0. 0% 1% 3 4% 15.9%  79.5%  100.0%
BE () EBTLNT> 0. 0% 0. 0% 2 2% 21.8% 75 9%  100.0%

BEREH 7' —F (SRC) & . . n . = m

avy 1 y—rJOowvy (CB) & - - - - - -
Z 0t 0. 0% 0. 0% 0. 0% 0.0%  100.0%  100.0%
a5 0. 0% 0. 1% T 0% 17.1% _ 80.9% 100, 0%

FRAFERREEHRETME (HE) T -2 (EEHETE- RTHS)




HEFE

8. BRIEICEHT S L

8-4 FBiBKER (SIEFRAOE) IR

ERET =R &t
Fi# 11,575 3,914 15, 489
% 74. 7% 25. 3% 100. 0%
BETEMNFH/EBEAEHR GLERFDOE) ER

EIRET =R &t
A& (FEERIE) 3,993 2,489 6, 482
AiE (BfEEE TR x4%)) 388 300 688
KiE (TUNTKRE/INRIVTEED 1,062 19 1,081
#HEgar o )—hk (RC) & 10 6 16
a2y )—k (RC) &E<TL/NTD 8 1 9
#E (S) & 66 22 88
BE (S) ESTLANT> 6, 042 1,076 7,118
HEHHIV)—F (SRC) & 0 0 0
avy)—krJOwvy (CB) & 0 0 0
Z Dt 6 0 6
&&t 11,575 3,913 15, 488
BEIERNEIE/EREAEHR GHERDOE) ER

ERET =R &t
A& (FEERIZE) 61. 6% 38. 4% 100. 0%
A& (BfEEE T ;X2 x45)>) 56. 4% 43. 6% 100. 0%
ARiE (TUNTREB/NRIVTEREE 98. 2% 1.8% 100. 0%
oy 1)—k (RC) & 62. 5% 37. 5% 100. 0%
a1 —bk (RC) ESTLANTD 88. 9% 11.1% 100. 0%
#%E (S) & 75. 0% 25. 0% 100. 0%
#%B (S) &ETLANTD> 84. 9% 15. 1% 100. 0%
HEHmI Y )— bk (SRC) & - - -
avy)—kJAvYy (CB) & - - -
Z Dk 100. 0% 0. 0% 100. 0%
= T4. 7% 25. 3% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




8-4 FiBELAFH SEREOR) It

AL FkA Fh2 F#k 3 =1
Fi# 353 999 2,544 45 3, 941
% 9. 0% 25. 3% 64. 6% 1.1% 100. 0%
BETEMNFH/EBEAEHR G ERDOE)

Zuil  |FHA k2 k3 it

A& (FEXRIZE) 303 561 1,602 29 2, 495
A& (BHAEE TR x4%D) 6 127 158 10 301
K& (FLNTKRE/NRIVTESE 1 5 13 0 19
#HEgary 1 )—bk (RC) & 0 2 2 2 6
a1 )—bk (RC) ESTLNTD 0 1 0 0 1
HE (S & 3 3 16 0 22
$&E (S) BT LT 40 300 752 4 1,096
HEHHIY)—F (SRC) & 0 0 0 0 0
arvy)—krJOwvy (CB) & 0 0 0 0 0
ZNith 0 0 0 0 0
= 353 999 2,543 45 3, 940
BEIEMNEE/EBEAREHR GLERDOE)

AL FkA Fh2 3 =X
g (FEERIZE) 12.1% 22. 5% 64. 2% 1.2% 100. 0%
A& (BfEEE T2 x45)>) 2.0% 42. 2% 52. 5% 3.3% 100. 0%
ARiE (TUNTREBNRIVTEREE 5.3% 26. 3% 68. 4% 0. 0% 100. 0%
oy )—k (RC) & 0.0% 33. 3% 33. 3% 33. 3% 100. 0%
a1 )—bk (RC) ESTLANTD 0.0% 100. 0% 0.0% 0. 0% 100. 0%
B (S) & 13. 6% 13. 6% 72. 7% 0.0% 100. 0%
#%B (S) ETLANTD> 3. 6% 27. 4% 68. 6% 0. 4% 100. 0%
HEHmI Y )— bk (SRC) & - - - - -
avyYy—k2JOyy (CB) & - - - - -
Z D - - - - -
&ait 9. 0% 25. 4% 64. 5% 1.1% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




8-4 FBiBKER SIEFAOE) X

AL FkA Fh2 F#k 3 =1
Fi# 52 1,077 2,779 37 3, 945
% 1.3% 27.3% 70. 4% 0.9% 100. 0%
BETEMNFH/EBEAEHR G ERDOR) X

B ® kA 2 k3 =X
A& (FEXRIZE) 39 588 1,848 22 2,497
A& (BHAEE TR x4%D) 1 109 181 10 301
K& (FLNTKRE/NRIVTESE 0 6 12 1 19
#HEgary 1 )—bk (RC) & 1 1 2 2 6
a1 )—bk (RC) ESTLNTD 0 1 0 0 1
HE (S & 1 5 16 0 22
$&E (S) BT LT 10 366 720 2 1,098
HEHHIY)—F (SRC) & 0 0 0 0 0
arvy)—krJOwvy (CB) & 0 0 0 0 0
ZNith 0 0 0 0 0
= 52 1,076 2,779 37 3, 944
BEIEMNEE/EBEAREHR G EROR) H

AL FkA Fh2 3 =X
g (FEERIZE) 1.6% 23. 5% 74. 0% 0. 9% 100. 0%
A& (RefBEE T 52 x4%)) 0. 3% 36. 2% 60. 1% 3.3% 100. 0%
ARiE (TUNTREBNRIVTEREE 0.0% 31. 6% 63. 2% 5. 3% 100. 0%
oy )—k (RC) & 16. 7% 16. 7% 33. 3% 33. 3% 100. 0%
a1 )—bk (RC) ESTLANTD 0.0% 100. 0% 0.0% 0. 0% 100. 0%
B (S) & 4. 5% 22. 7% 72. 7% 0.0% 100. 0%
#%B (S) ETLANTD> 0.9% 33.3% 65. 6% 0. 2% 100. 0%
HEHmI Y )— bk (SRC) & - - - - -
avyYy—k2JOyy (CB) & - - - - -
Z D - - - - -
&ait 1.3% 27. 3% 70. 5% 0. 9% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




8-4 FBiBKER SIEFOE) @

AL FkA Fh2 F#k 3 =1
Fi# 12 1,034 2, 871 28 3, 945
% 0.3% 26. 2% 72. 8% 0.7% 100. 0%
BETEMNFH/EBEAEHR G ERFDOS) w

B ® kA 2 k3 =X
A& (FEXRIZE) 8 570 1,902 17 2,497
A& (BHAEE TR x4%D) 0 101 194 6 301
K& (FLNTKRE/NRIVTESE 0 7 12 0 19
#HEgary 1 )—bk (RC) & 0 2 2 2 6
a1 )—bk (RC) ESTLNTD 0 1 0 0 1
HE (S & 1 4 17 0 22
$&E (S) BT LT 3 349 743 3 1,098
HEHHIY)—F (SRC) & 0 0 0 0 0
arvy)—krJOwvy (CB) & 0 0 0 0 0
ZNith 0 0 0 0 0
= 12 1,034 2, 870 28 3, 944
BEIEMNEE/EBEAEHR GIEROS) @

AL FkA Fh2 3 =X
g (FEERIZE) 0. 3% 22. 8% 76. 2% 0. 7% 100. 0%
A& (BfEEE T2 x45)>) 0.0% 33. 6% 64. 5% 2.0% 100. 0%
ARiE (TUNTREBNRIVTEREE 0.0% 36. 8% 63. 2% 0. 0% 100. 0%
oy )—k (RC) & 0.0% 33. 3% 33. 3% 33. 3% 100. 0%
a1 )—bk (RC) ESTLANTD 0.0% 100. 0% 0.0% 0. 0% 100. 0%
B (S) & 4. 5% 18. 2% 77. 3% 0.0% 100. 0%
#%B (S) ETLANTD> 0.3% 31. 8% 67. 7% 0. 3% 100. 0%
HEHmI Y )— bk (SRC) & - - - - -
avyYy—k2JOyy (CB) & - - - - -
Z D - - - - -
&ait 0. 3% 26. 2% 72. 8% 0. 7% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR




8-4 FBiBKER SIEFAOE) &

AL FkA Fh2 F#k 3 =1
Fi# 68 1,033 2, 800 42 3,943
% 1. 7% 26. 2% 71.0% 1.1% 100. 0%
BETEMNFH/EBELAEHR G ERFOE) @

B ® kA 2 k3 =X
A& (FEXRIZE) 51 572 1,849 23 2, 495
A& (BHAEE TR x4%D) 3 126 160 12 301
K& (FLNTKRE/NRIVTESE 0 6 12 1 19
#HEgary 1 )—bk (RC) & 1 1 2 2 6
a1 )—bk (RC) ESTLNTD 0 1 0 0 1
HE (S & 1 6 15 0 22
$&E (S) BT LT 12 321 761 4 1,098
HEHHIY)—F (SRC) & 0 0 0 0 0
arvy)—krJOwvy (CB) & 0 0 0 0 0
ZNith 0 0 0 0 0
= 68 1,033 2,799 42 3, 942
BEIEMNEE/EBREAEHR GLEREOE) @

AL FkA Fh2 3 =X
g (FEERIZE) 2. 0% 22. 9% 74.1% 0. 9% 100. 0%
A& (RefBEE T 52 x4%)) 1.0% 41.9% 53. 2% 4.0% 100. 0%
ARiE (TUNTREBNRIVTEREE 0.0% 31. 6% 63. 2% 5. 3% 100. 0%
oy )—k (RC) & 16. 7% 16. 7% 33. 3% 33. 3% 100. 0%
a1 )—bk (RC) ESTLANTD 0.0% 100. 0% 0.0% 0. 0% 100. 0%
B (S) & 4. 5% 27.3% 68. 2% 0.0% 100. 0%
#%B (S) ETLANTD> 1. 1% 29. 2% 69. 3% 0. 4% 100. 0%
HEHmI Y )— bk (SRC) & - - - - -
avyYy—k2JOyy (CB) & - - - - -
Z D - - - - -
&ait 1. 7% 26. 2% 71.0% 1.1% 100. 0%

FRIAFERFREEMRETME G E) 7T -2 (EEttaesll- R TR
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9. BEMEFEADEREICET S &

9-1 SEEFEENKEFR (FHMS)

ik 1 Fih2 H#k 3 ik 4 Ek5 ait
B 6,414 183 8, 256 26 6 15, 485
% 41. 4% 5. 1% 53. 3% 0. 2% 0. 0% 100. 0%
BETERNFR/ ShBEFREMREFR (FRHS)

ik 1 Fih2 F#k 3 Fiha Fik S =E
RiE (FEXRIE) 1,617 141 4,709 10 3 6,471
RiE (BB TR x455)) 271 31 375 2 3 685
K& (TULNTKRENRIVIES 649 17 415 0 0 1,081
#HEHmar s —k (RO & 9 1 5 1 0 16
#Hav ) —F (RC) ETL/ANT> 0 8 1 0 0 9
#%E (S & 44 16 28 0 0 88
B%E (S) BETLNT> 3,817 569 2,117 13 0 7,116
#HEHKHI Y )—F (SRC) & 0 0 0 0 0 0
avyy—kJAavY (CB) & 0 0 0 0 0 0
Z D4t 1 0 5 0 0 6
a5t 6,414 183 8, 255 26 6 15, 484
BETEMNE S/ SinE FERENKER (ERHS)

ik 1 Fih2 k3 Fih4a Fik5 Bit
KAE (FEFXRIE) 25. 0% 2. 2% 12. 1% 0. 2% 0. 0% 100. 0%
RiE (B#EEE T E2 x45) 40. 4% 4. 5% 54. 7% 0. 3% 0. 4% 100. 0%
K& (FLNITKENRRIVTESE 60. 0% 1. 6% 38. 4% 0. 0% 0. 0% 100. 0%
a2y )—k RO & 56. 3% 6.3% 31.3% 6. 3% 0. 0% 100. 0%
#HHav o) —F (RO ELTLANTY 0. 0% 88. 9% 11.1% 0. 0% 0. 0% 100. 0%
#B®E S & 50. 0% 18. 2% 31.8% 0. 0% 0. 0% 100. 0%
e (S) BELTLNT> 53. 6% 8. 0% 38. 2% 0. 2% 0. 0% 100. 0%
HEHHI Ly )— b (SRO) & - - - - -
avyY—rJOoyy (CB) & - - - - -
Z Dt 16. 7% 0. 0% 83. 3% 0. 0% 0. 0% 100. 0%
&at 41. 4% 5. 1% 53. 3% 0. 2% 0. 0% 100. 0%
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